F-4400-14-RD



Bid No.: F-4400-14-RDdate and the specified
after the specified
specified
after the specified
specified
after the specified
specified
after the specified
specified
after the specified
specified
after the specified
specified
after the specified
specified
specified
specified
specified
specified
specified
specified
specified
specified
specified
specified
specified
specified
specified
specified
specified
specified
specified
specified
specified
specified
specified
specified
specified
specified
specified
specified
specified
specified
specified
specified
specified
specified
specified
specified
specified
specified
specified
specified
specified
specified
specified
specified
specified
specified
specified
specified
specified
specified
specified
specified
specified
specified
specified
specified
specified
specified
specified
specified
specified
specified
specified
specified
specified
specified
specified
specified
specified
specified
specified
specified
specified
specified
specified
specified
specified
specified
specified
specified
specified
specified
specified
specified
specified
specified
specified
specified
specified
specified

Bid must be received prior to 3:00 P.M., March 20, 2014 and may not be withdrawn within 90 calendar days after such date and time. Bids received by the date and time specified will be opened in Room 303. All Bids received after the specified date and time will be returned unopened. Procurement Services Contact: Ralph Dierks, or Linda Silvey, or Joel Wasserman or his designee Telephone No.: (954) 921-3223 or (954) 921-3200 or (954) 921-3290

BIDDER ACKNOWLEDGMENT

THIS FORM MUST BE COMPLETED AND SUBMITTED ALONG WITH THE COMPLETE BID DOCUMENT BY THE DATE AND THE TIME OF BID OPENING. THE BID SUMMARY SHEET PAGES ON WHICH THE BIDDER ACTUALLY SUBMITS A BID AND ANY PAGES UPON WHICH INFORMATION IS REQUIRED MUST BE COMPLETED AND ATTACHED WITH ALL PAGES OF THE BID DOCUMENT.

DOCUMENT.	65-0838100
Bidder's Name: Superior Landscaping & Lawn Service, Inc.	Fed. ID No. or SS Number 00-0000 100
Complete Mailing	Telephone No.: 305-634-0717
Address: P.O. Box 35-0095 Miami, Florida 33135	Fax No.: 305-634-0744
Do You Have a Permanent Office Located in the City of Hollywood?	E-Mail Address: superlandscape@bellsouth.net
Yes No No Indicate type of organization below:	Is the Proposer a City of Hollywood Qualified Local MBE or SBE? Yes 🗌 No 🙀
Corporation 🙀 Partnership 🗌 Individual 🗌 Other	Certifying Agency:

ATTENTION: FAILURE TO SIGN (<u>PREFERABLY IN BLUE INK</u>) OR COMPLETE ALL BID SUBMITTAL FORMS AND FAILURE TO SUBMIT ALL PAGES OF THE BID DOCUMENT AND ANY ADDENDUMS ISSUED MAY RENDER YOUR BID NON-RESPONSIVE.

The undersigned bidder certifies that this bid is made without prior understanding, agreement, or connection with any corporation, firm or person submitting a bid for the same materials, supplies, services, or equipment, and is in all respects fair and without collusion or fraud. I certify acceptance of this bid's terms, conditions, specifications, attachments and addenda. Further, by signing below in blue ink), pages 5 through 7 are acknowledged and accepted as well as any special instruction sheet(s) if applicable. I am authorized to bind performance of this bid for the above bidder.

Orlando Otero	President	03/26/2014
Authorized Name (Type or Print)	Title	Date

Authorized Signature

HOLD HARMLESS AND INDEMNITY CLAUSE: S.



Superior Landscaping & Lawn Service, Inc., Orlando Otero

(Company Name and Authorized Signature, Print Name)

, the contractor shall indemnify, defend and hold harmless the City of Hollywood and FDOT, its elected and appointed officials, employees and agents for any and all suits, actions, legal or administrative proceedings, claims, damage, liabilities, interest, attorney's fees, costs of any kind whether arising prior to the start of activities or following the completion or acceptance and in any manner directly or indirectly caused, occasioned or contributed to in whole or in part by reason of any act, error or omission, fault or negligence whether active or passive by the contractor, or anyone acting under its direction, control, or on its behalf in connection with or incident to its performance of the contract.

Superior Landscaping & Lawn Service, Inc., Orlando Otero

(Company Name and Authorized Signature, Print Name) further certifies that it will meet all insurance requirements of the City of Hollywood and

agrees to produce valid, timely certificates of coverage.

ANTI-COLLUSION STATEMENT: Τ.

The undersigned Bidder has not divulged to, discussed or compared his Bid with other Bidders and has not colluded with any other Bidder or parties to this Bid whatsoever.

DISCLOSURE OF CONFLICT OF INTEREST: U.

Disclosure of Conflict of Interest: Vendor shall disclose below, to the best of his or her knowledge, any City of Hollywood officer or employee, or any relative of any such officer or employee as defined in Section 112.3135, Florida Statutes, who is an officer, partner, director or proprietor of, or has a material interest in the vendor's business or its parent company, any subsidiary, or affiliated company, whether such City official or employee is in a position to influence this procurement or not.

Failure of a vendor to disclose any relationship described herein shall be reason for debarment in accordance with the provisions of the City of Hollywood Purchasing Ordinance.

Mamo	Relationship
Name	N/A
N/A	N/A

In the event the vendor does not indicate any names, the City shall interpret this to mean that no such relationship exists.

REFERENCES:

Bidders must provide at least three current references that they provide similar services to, with similar size, service type and scope of work, including company name, contact name, phone, fax or email address:

1)	City of Bonita Springs david.liccardi@cityofbonitasprings.org
,	9101 Bonita Beach Road, Bonita Springs, Fl. 34135
	David Liccardi Phone: 239-949-6246 / Fax: 239-949-3245
2) _	Florida Turnpike Enterprise boris.serrano@dot.state.fl.us FL Turnpike MP 263 Ocoee, FL 34761 Boris B. Serrano Phone: 954-868-8595 / Fax: 954-984-1854
3) _	City of Parkland bmanson@cityofparkland.org 6500 Parkside Drive Parkland, Fl. 33067 Bill Manson Phone: 954-757-4108 / Fax : 954-346-2160

- BIDDER'S NOTE: Award of any bid will require that the successful bidder ensure that a properly completed Vendor Registration Form is on file with the City.
- NOTE: <u>Contractor shall haul and legally dispose of all such material at his own</u> expense unless otherwise indicated herein.

1 1

No.	ZONE 1 Service Location	SQ. FT	Туре		Cost Per Service	х	Annual Frequency	H	Total Annual Cost
1	Griffin Road from 35th Ave to SR7	30,000	Medians	\$	60.75	x	23	I	\$ 1,397.25
2	Stirling Road medians SR7 east to N. 29th Ave / Wall 46 th Ave to Park Road	98,765	Landscape/ Medians/ Swale	\$	189.00	x	23		^{\$} 4,347.00
3	Stirling Rd medians N. 29th Ave east to Oakwood Blvd. All four quadrants	81,500	Gateway/ Medians	\$	189.00	x	23		\$ 4,347.00
4	N. 30th Ave south of Stirling Rd at street end north of Emerald Hills Park	600	Street End	\$	33.75	x	23		\$ 776.25
5	Oakwood Hills Park, 2701 N. 26th Avenue, and lot on west side across from park.	104,080	Park/Lot	\$	209.25	x	23		\$ 4,812.75
6	Henry L. Graham Park, 2350 Simms St	14,850	Park	\$	54.00	x	23	=	\$ 1,242.00
7	Dr Martin Luther King Community Center, 2400 Charleston St	127,870	Park	\$	263.25	x	23		^{\$} 6,054.75
8	2305 Simms Street	5,243	Lot	\$	47.25	х	23	=	\$ 1,086.75
9	Police Sub Station, 2207 Raleigh Street	1,768	Lot	\$	40.50	x	23	=	\$ 931.50
10	N. 22nd Ave from Sheridan to Pershing St	38,000	Swale	\$	81.00	x	23	=	^{\$} 1,863.00
	AL BID FOR ZONE PER SERVICE (to 10 COST PER SERVICE)	tal of lines	=	\$	1,167.75		and a state		
тот	AL BID FOR ZONE ANNUAL COST (total of lines		NNU	AL COST)	100	=	ingen d	\$ 26,858.25

7

No.	ZONE 2 Service Location	SQ. FT	Туре	Cost Per Service	x	Annual Frequency	I	Total Annual Cost
1	S. Park Road from Pembroke Rd North to Hillcrest Drive, west swale, and Pembroke Road north to Hollywood Blvd., all medians & east swale only along Orangebrook golf course	171,491	Swale/ Median	\$ 348.30	×	23	H	\$ 8,010.90
2	N. Park Road from Hollywood Blvd north to Coolidge Street	223,332	Median/ Triangle	\$ 452.25	x	23	H	\$ 10,401.75
3	W. Park Road from Coolidge Street to 56th Avenue	226,942	Swale	\$ 459.00	x	23	=	\$ 10,557.00
4	N. 46th Avenue, Hollywood Blvd to Stirling Road (including east swale north of golf course)	115,000	Median/ Swale	\$ 232.20	×	23	1	\$ 5,340.60
5	Pembroke Road from S. 56th Avenue east to I-95 and first median east of I-95; northeast & northwest quadrants of gateway	92,300	Median/ Gateway/ Retention	^{\$} 186.30	x	23		\$ 4,284.90
6	S. 30th Avenue just north of Pembroke Road fence line abutting the train tracks along storefronts	28,500	Swale	\$ 60.75	x	23	=	^{\$} 1,397.25
TOT	AL BID FOR ZONE PER SERVICE (to	tal of lines				111.00 Mar 1991		
	6 COST PER SERVICE)		=	\$ 1,738.80				
TOT	AL BID FOR ZONE ANNUAL COST (\$ 39,992.40

No.	ZONE 3 Service Location	SQ. FT	Туре		Cost Per Service	x	Annual Frequency	-	Total Annual Cost
1	Sheridan Street from N. 72nd Ave east to N. Park Road.	149,850	Medians	\$	302.40	x	23	=	\$ 6,955.20
2	Sheridan Street from N. Park Road to A1A	62,500	Median/Swale	\$	126.90	x	23	=	\$ 2,918.70
3	I-95 & Sheridan Street all four quadrants	79,000	Gateway	\$	159.30	x	23	-	\$ 3,663.90
4	Turnpike slopes and swales at Sheridan Street. 61st to 62nd Street including guardrail areas	42,708	Swale/Slopes	\$	86.40	x	23	H	^{\$} 1,987.20
						1999-19 2010-19 22-19			
	AL BID FOR ZONE PER SERVICE (to 4 COST PER SERVICE)	tal of lines	=	\$	675.00				
тот	AL BID FOR ZONE ANNUAL COST (total of lines	1 to 4 TOTAL ANI	NU	AL COST)		=		\$ 15,525.00

No.	ZONE 4 Service Location	SQ. FT	Туре	Cost Per Service	x	Annual Frequency	=	Total Annual Cost
1	Hollywood Blvd from SR7 west to turnpike medians and city boundary and s 8' grey wall	5,354	Median/Swale	^{\$} 47.25	x	23	8	\$ 1,086.75
2	Hollywood Blvd from City Hall west to Presidential Circle; including NW corner electrical box grass at 26th Ave	363,414	Landscape/ Gateway/ Median	\$ ^{735.75}	x	23	H	^{\$} 16,922.25
3	Glenn and Columbus Parkway landscape circles and medians, and Johnson Street @ 56th Ave SW corner	73,004	Traffic Circles and Landscape	^{\$} 147.15	x	23	=	\$ 3,384.45
	AL BID FOR ZONE PER SERVICE (to 3 COST PER SERVICE)	tal of lines	=	\$ 930.15				
	AL BID FOR ZONE ANNUAL COST (=		s 21,393.45

7

No.	Service Location	SQ. FT	Туре		Cost Per Service	x	Annual Frequenc Y	=	Total Annual Cost
1	City Hall, 2600 Hollywood Blvd	167,000	Facility	\$	337.50	x	26 Bi-weekly on Saturdays Only	=	\$ 8,775.00
	D FOR ZONE PER SERVICE (t t SERVICE)	otal of line 1	=	\$	337.50				
TOTAL BI	D FOR ZONE ANNUAL COST	(total of line 1 T	OTAL ANNUA	L COS	т)		=		\$8,775.00

No.	ZONE 5 Service Location	SQ. FT	Туре	Cost Per Service	x	Annual Frequency	=	Total Annual Cost
1	FEC Corridor east and west sides from Pembroke Road to Sheridan Street, excluding Monroe Street thru Fillmore Street. Include parking areas on S. 21st Ave from Monroe south to Washington St.	709,000	Median/ Swale	\$ 1,435.05	x	23	=	\$ 33,006.15
2	Fred Lippman Multi-Purpose Center, 2030 Polk Street, North parking lot; Hollywood Shuffleboard @ 309 N. 21st Ave.	12,497	Facility	^{\$} 47.25	x	23	=	\$ 1,086.75
3	Parks & Recreation Bldg, 1715 N. 21st Ave	8,500	Facility	\$ 47.25	x	23	=	\$ 1,086.75
4	Fire Station 5, 1819 N. 21st Ave	13,000	Facility	\$ 47.25	x	23	=	\$ 1,086.75
5	Fire Station 105, 1511 S Federal Highway	6,916	Facility	\$ 47.25	x	23	=	\$ 1,086.75
					-		-	
	AL BID FOR ZONE PER SERVICE (to 5 COST PER SERVICE)	otal of lines	=	\$ 1,624.05				
			L					
	AL BID FOR ZONE ANNUAL COST	(total of lines	1 to 5 TOTAL A	NNUAL COST)		=		\$ 37,353.15

1

No.	Service Location	SQ. FT	Туре	Cost Per Service	x	Annual Frequency	=	Total Annual Cost
1	Poinciana Park & Dog Park, 1301 S. 21st Avenue	200,990	Facility	\$ 406.35	x	36 (On the 10th, 20th, & 30th month)	=	\$ 14,628.60
	AL BID FOR ZONE PER SERVICE (to T PER SERVICE)	tal of line 1	=	\$ 406.35				
тот	AL BID FOR ZONE ANNUAL COST (total of line 1	TOTAL ANNU/	AL COST)		=		^{\$} 14,628.60

4 i

No.	ZONE 6 Service Location	SQ. FT	Туре	Cost Per Service	x	Annual Frequency	=	Total Annual Cost
1	Rose's Garden, 24th Ave and Monroe Street	45,000	Park	\$ 91.80	x	23	=	\$ 2,111.40
2	24th Ave - Jackson, Monroe, Madison, Adams Streets	640	Street Ends	\$ 33.75	x	23	I	\$ 776.25
3	917 S. 29th Avenue, east side	5,688	Lot	\$ 33.75	X	23	=	\$ 776.25
4	23rd Ave & Rodman St, north side of Rodman St	5,056	Lot	\$ 33.75	x	23	=	^{\$} 776.25
5	S. 29th Terrace from Van Buren St to Monroe St, N & W swale across from Church & I- 95 fence; S 29th Ave from Madison Street to Fletcher St., street ends	13,892	Swale/ Street Ends	\$ 47.25	x	23	5	^{\$} 1,086.75
6	S. 29th Ave at Madison St and S 28th Ct at Monroe St, round street end median	6,005	Circle	\$ 33.75	x	23	1	^{\$} 776.25
7	S. 26th Ave at Pembroke Road neighborhood entrance	7,454	Swale	\$ 33.75	x	23	=	\$ 776.25
8	Fletcher St from S. 22nd Ave to S. 25th Ave south wall grass and landscape; 2020 Fletcher St alley dead end	18,490	Swale/Street Ends	\$ ^{40.50}	×	23	I	\$ 931.50
9	2717 Van Buren St	15,000	Lot	\$ 40.50	X	23	=	\$ 931.50
10	N North Lake Dr & S South Lake Dr key holes, N 12th & S 12th Ave & Lake Drive	42,699	Swale	\$ 91.80	x	23	=	\$ 2,111.40
11	Dewey St from S 13th to S 14th Aves; Rodman St at 13th Ave	19,244	Median/ Swale / Circle	\$ 40.50	x	23	=	\$ 931.50
12	Harrison St, S 13th, 14th, 15th, and 16th Aves; 700 Harrison St	1,338	Median/ Circle/ Street Ends	\$ ^{27.00}	x	23	=	\$ 621.00
13	Jefferson Park, 1501 Jefferson Street	151,017	Park	\$ 306.45	x	23	=	\$ 7,048.35
	AL BID FOR ZONE PER SERVICE (to 13 COST PER SERVICE)	tal of lines	=	\$ 854.55				
тот	AL BID FOR ZONE ANNUAL COST (total of lines	s 1 to 13 TOTAL A	NNUAL COST)		=		\$ 19,654.6

ŧ

No.	ZONE 7 Service Location	SQ. FT	Туре	Cost Per Service	x	Annual Frequency	=	Тс	otal Annual Cost
1	John Williams Park, 6101 Sheridan Street	215,524	Park	\$ 436.05	x	23	11	\$	10,029.1
2	Seminole Park, Charleston St and 64th Avenue, including the south wall swale between 64th and 65th Aves	68,712	Park/Swale	\$ 139.05	x	23	I	\$	3,198.15
3	Bicentennial Park, 7300 Farragut Street	108,189	Park	\$ 218.70	x	23	=	\$	5,030.10
4	Driftwood Community Center, 3000 N. 69th Avenue	108,000	Facility	^{\$} 218.70	x	23	=	\$	5,030.10
5	RV Lot, 68th Avenue and Sheridan Street	21,675	Landscape	\$ 54.00	x	23	=	\$	1,242.00
6	Linear Park, 6570 Sheridan Street west to 70th Ter - grass/shrubs	383,940	Landscape	\$ 777.60	x	23		\$	17,884.80
7	Citizen's Service Center, 6199 Taft Street	15,000	Facility	\$ 40.50	x	23	=	\$	931.50
8	Carlton Montayne Park, 6230 Arthur St	22,424	Park	\$ 54.00	x	23	I	\$	1,242.00
9	Montella Park, 1231 N 69th Way, & Boys & Girls Club, 1111 NW 69th Way	204,000	Park/ Facility	\$ 413.10	x	23	=	\$	9,501.30
10	Fire Station 45 & Maintenance Garage, 1810 N 64th Avenue	6,783	Facility	\$ 33.75	x	23	=	\$	776.25
11	70th Terrace, Taft St to Moseley St	3,937	Median	\$ 33.75	x	23	=	\$	776.25
12	62nd Avenue & Johnson St, turnpike underpass	3,101	Landscape	\$ 33.75	х	23	=	\$	776.25
13	66th Avenue & Taft St, and 68th Ave just north of Taft St	7,489	Triangle/ Median	\$ ^{40.50}	×	23	A SHEER ST	\$	931.50
14	NE corner on Roosevelt St at 66th Avenue	3,540	Swale	\$ 33.75	x	23	=	\$	776.25
15	Boulevard Heights Community Center, 6770 Garfield St Parking Lots, Building and Playground	32,529	Hedges, parking lot bullnoses, building hedges, playground hedges	\$ ^{60.75}	x	23	=	\$	1,397.25
	AL BID FOR ZONE PER SERVICE (to 15 COST PER SERVICE)	ital of lines	=	\$ 2,587.95	5				
	AL BID FOR ZONE ANNUAL COST (=	+		59,522.8

۴

No.	ZONE 8 Service Location	SQ. FT	Туре	Cost Per Service	x	Annual Frequency	-	Total Annual Cost
1	South of Jefferson St east of the building	5,808	Swale	\$ 33.75	x	23		\$ 776.25
2	Keating Park, 2500 S Ocean Dr	27,544	Park	\$ 60.75	X	23		\$ 1,397.25
3	Hollywood Beach Community Center, 1301 S. Ocean Drive	38,894	Park	\$ 78.30	x	23		\$ 1,800.90
4	Harry Berry Park, 301 Azalea Terrace	23,517	Park	^{\$} 60.75	x	23		^{\$} 1,397.25
5	North sidewalk of Diplomat Hotel from A1A onto the beach	35,000	Swale	\$ 60.75	x	23		\$ 1,397.25
6	A1A and Hallandale Beach Blvd underpass bridge landscape and grass south of the 7-11 store inside fence	22,987	Swale	\$ 60.75	x	23		^{\$} 1,397.25
7	Azalea Terrace Parking Lot, Azalea Ter & Surf Rd	5,262	Parking Lot	\$ 33.75	x	23		\$ 776.25
8	Summit Parking Lot, north of Harry Berry Park	14,957	Parking Lot	\$ 40.50	x	23		\$ 931.50
9	Ocean Walk berm at Hollywood Blvd & Broadwalk	10,530	Swale	\$ 33.75	x	23		\$ 776.25
10	Hollywood Blvd & A1A east and west bridge underpass, hedges west Intracoastal swale wall from Hollywood Blvd bridge to Azalea Terr;	151,218	Swale	\$ 306.45	x	23		\$ 7,048.35
11	S. Surf Rd from Bouganvilla to Jefferson east road side fence line	24,000	Swale	\$ 54.00	x	23	=	\$ 1,242.00
12	Topsider Parking Lot, A1A & Tyler Street	400	Parking Lot	\$ 20.25	x	23	=	\$ 465.75
13	A1A N of Sheridan St from Forrest St to Perry St	90,480	Parking Meter areas	\$ 182.25	x	23	=	\$ 4,191.75
14	Oak Street Park at N Surf Rd	8,000	Park	\$ 33.75	X	23	=	\$ 776.25
15	Fire Station 40, 2211 North Ocean Drive	10,138	Facility	\$ 33.75	x	23	=	\$ 776.25
16	A1A from Sheridan St south to Hallandale Beach Blvd	192,474	Medians/ Swale/ Easements	\$ 390.15	x	23	, II	\$ 8,973.45
17	New Hampshire St at west side of A1A	3,225	Lot	\$ 33.75	x	23	=	1 //6.25
18	A1A and Forrest St	45,000	Swale	\$ 90.45	X	23	=	\$ 2,080.35
	TAL BID FOR ZONE PER SERVICE (to 18 COST PER SERVICE)	tal of lines	=	^{\$} 1,607.85				
TO	FAL BID FOR ZONE ANNUAL COST (total of lines	1 to 18 TOTAL A	ANNUAL COST)		=		\$ 36,980.5

No.	Service Location	SQ. FT	Туре	Cost Per Service	x	Annual Frequenc y	=	Total Annual Cost
1	Streetscapes at AIA and Grant, Hayes, Garfield, Connecticut, Arthur, Cleveland, Tyler, Polk, Arizona, Taylor, New York, Fillmore, Pierce, Indiana, Buchanan, Minnesota Streets	16,000	Swales/ medians	\$ 90.45	x	36	=	\$ 3,256.20
2	Garfield St Parking Garage	8,000	Facility	\$ 33.75	X	36	=	\$ 1,215.00
3	Beach Safety Complex, 707 S Ocean Dr	5,000	Facility	\$ 33.75	x	36	=	\$ 1,215.00
4	Charnow Park 300 Connecticut St	10,000	Park	\$ 33.75	x	36	=	\$ 1,215.00
	L BID FOR ZONE PER SERVICE (tota COST PER SERVICE)	al of lines 1	=	\$ 191.70				
	L BID FOR ZONE ANNUAL COST (to	tel of lines 1				=		\$ 6,901.20

4

No.	ZONE 9 Service Location	SQ. FT	Туре	Cost Per Service	x	Annual Frequency	=	Total Annual Cost
1	Anniversary Park, 1945 Hollywood Blvd	8,458	Park	\$ 436.05	x	23	=	\$ 10,029.15
2	N 19th Avenue, Polk Street NW lot	5,524	Parking Lot	\$ 139.05	x	23	=	\$ 3,198.15
3	Art & Culture Center and Day Care Building, 1650 Harrison Street	21,451	Facility	^{\$} 218.70	х	23	I	\$ 5,030.10
4	Federal Hwy from Sheridan St south to Pembroke Road	105,000	Medians	\$ ^{218.70}	х	23	=	^{\$} 5,030.10
5	Hollywood Blvd 17th Ave to ICW	50,000	Median	\$ 54.00	x	23	=	^{\$} 1,242.00
6	S 21st Ave from Hollywood Blvd to Jefferson St, palms and grass along storefronts	194,900	Swale	\$ 777.60	x	23	=	\$ 17,884.80
7	Young Circle beds, 17th Avenue, Publix North/South Side	8,839	Landscape	\$ 40.50	x	24 (On the 15th and 30th of each month)		\$ 972.00
8	Downtown area, Hollywood Blvd, Harrison St, Van Buren St, Polk St, and Tyler St, 21st Ave to Federal Hwy, beds and paver blocks. Downtown, 19th and 20th Aves from Harrison to Tyler, weedeat and herbicide pavers	16,000	Landscape/ pavers	\$ 54.00	x	26 (Biweekly on Mondays only btwn 6am to 11am)	=	\$ 1,404.00
9	ArtsPark at Young Circle	432,000	Park	\$ 413.10	x	36 (On the 10th, 20th and 30th of each month)	=	^{\$} 14,871.60
10	FEC, Monroe – Fillmore, Dixie Highway & 21st Avenue, including parking areas on s. 21st Ave from Harrison Street to Monroe Street	200,000	Hedges/Grass	\$ 33.75	x	23	=	_{\$} 776.25
	AL BID FOR ZONE PER SERVICE (to 10 COST PER SERVICE)	otal of lines	=	\$ 2,385.45				
703	TAL BID FOR ZONE ANNUAL COST	(total of lines	1 to 10 TOTAL A	NNUAL COST)		=		\$ 60,438.1

No.	ZONE 10 Service Location	SQ. FT	Туре	Cost Per Service	x	Annual Frequency	=	Total Annual Cost
1	Pembroke Road & I-95, Seagrape slopes		Hedges	\$ 2,376.00	x	4	=	\$ 9,504.00
2	Hollywood Blvd & I-95, Seagrape slopes, ficus and cocoplum hedges, small palms	245,000	Hedges	\$ 2,970.00	x	4	=	^{\$} 11,880.00
3	Sheridan Street & I-95, Seagrape slopes		Hedges	\$ 1,782.00	x	4	=	\$ 7,128.00
4	Stirling Road & I-95, Seagrape slopes		Hedges	^{\$} 2,376.00	x	4	=	^{\$} 9,504.00
5	1600 S. Park Road, Ficus & Cocoplum hedges		Hedges	^{\$} 2,376.00	x	4	=	^{\$} 9,504.00
6	56th Ave & N. Hills Drive, Ficus Hedges south to yellow wall	35,000	Hedges	\$ 1,782.00	x	4	H	\$ 7,128.00
	AL BID FOR ZONE PER SERVICE (to 6 COST PER SERVICE)	tal of lines	=	\$ 13,662.00				
TOT	AL BID FOR ZONE ANNUAL COST (total of lines '		NNUAL COST)		an a		\$ 54,648.00

Additional Services as requested by the City, for any service requested to be provided, not listed in the bid specified scope of work.

(Pricing for Additional Services will not be calculated with total bid zone pricing for award.)

SERVICE	UNIT	PRICE
Fertilization	Per Bag Applied	\$ 30.00
Mulching	Per Cubic Yard Applied	^{\$} 30.00
Square Foot Rate	Per Square Foot	\$ 2.00
Trimming	Per Linear Foot	\$ 1.88
Additional Services	Per Hour	\$ 80.00

PLEASE RETURN AN ORIGINAL AND THREE COPIES OF ENTIRE BID DOCUMENT.

BID SUBMITTAL COMPLETION CONFIRMATION:

I, the Bidder, have completed and signed (preferably in blue ink) all required bid document pages.

I, the Bidder, acknowledge reading and signing the Hold Harmless Statement.

I, the Bidder, have submitted my bid on the bid sheets provided, and acknowledge that bids not submitted on bid sheets provided may be rejected.

I, the Bidder, have filled in all spaces on the pricing page as noted, and acknowledge that bids with spaces left blank on the pricing page may be rejected.

I, the Bidder, have included all information, certificates, licenses and additional documentation as required by the City in this bid document.

I, the bidder, have checked for any addendums to this bid, and will continue to check for any addendums up to the due date and time of this bid.

I, the Bidder, have included on the face of the envelope, my company name and return address, the date and time of bid opening, and the bid number.

I, the Bidder, have submitted one (1) original and three (3) copies of the entire bid document and addendums.

I have read and completed (if applicable) the "Disclosure of Conflict of Interest".

I, the Bidder, am aware that a Notice of Intent to award this bid shall be posted on the City's website at <u>www.hollywoodfl.org</u> and on the Procurement Services bulletin board in room 303 at City Hall, and that it is my responsibility to check for this posting. Also, I have provided my email address, as the City, at its discretion, may provide me information by such means regarding this procurement process.



I, the Bidder, have submitted all supporting documentation for local preference eligibility, which must be received with the bid package prior to the bid opening date and time (if applicable).

NAME OF COMPANY: Superior Landscaping & Lawn Service, Inc.

BIDDER'S I	NAME:	Orlando Otero	INA MA
BIDDER'S	AUTHORI	ZED SIGNATURE:	
DATE:	3/26/201	14	



City of Hollywood, Florida

PROCUREMENT SERVICES ROOM 303 P. O. Box 229045 ZIP 33022-9045

NOTICE TO BIDDERS



NOTICE IS HEREBY GIVEN, that the City Commission of the City of Hollywood, Florida is advertising for Sealed Bids which will be received by the City Clerk of the City of Hollywood, Florida at City Hall, 2600 Hollywood Blvd., Room 221, Hollywood, Florida 33020 until **3:00 P.M., March 27, 2014**, at which time they will be opened and publicly read in the Procurement Services Office, Room 303, City Hall, 2600 Hollywood Boulevard, Hollywood, Florida. **FOR: City-Wide Grounds Maintenance**

BID NO. F-4400-14-RD ADDENDUM NO. 1

Please make the following changes (additions, deletions or corrections) in the above named bid.

CHANGES:

1. The Bid Opening Date is changed as follows:

FROM: 3:00 P.M., March 20, 2014

- TO: 3:00 P.M., March 27, 2014
- 2. Replace all pricing pages with the attached REVISED Pricing Pages.
- 3. Replace Attachment B with the attached REVISED Attachment B.

QUESTIONS: Below are the questions received in reference to the above named bid and the corresponding answers.

- Q1: How will the City handle minimum wage increases and affordable health care?
- A1: This will be handled through the "Cost Adjustments" process as explained in Item E. on page 9 of the bid.

CLARIFICATIONS:

- C1: Copies of your current Maintenance of Traffic (MOT) Certifications MUST include an <u>Intermediate MOT Certification</u> and MUST be submitted with your bid.
- C2: Page 12, I. Schedule, fourth paragraph, ADD: only one (1) service in the month of February.

- Tree Trimming: The person performing the tree trimming MUST possess a C3: Broward county Class B Trimmer's License.
- Pesticide Application: The Florida Certified Pesticide Applicator license C4: holder MUST be the applicator of pesticides or herbicides. Acceptable licenses are the Department of Agriculture and Consumer Services Florida Limited Commercial Maintenance License Certification or the Bureau of Entomology and Pest Control Commercial Landscape Maintenance license.
- Successful Contractor SHALL NOT be responsible for the treatment of C5: Whiteflies.
- Page 17, N. Mulching, second sentence, REMOVE the words "or bagged" C6: as the mulch will only be supplied by the City in bulk.
- Q. Pavers, Page 18, ADD: No dye shall be used on concrete pavers. C7:
- Insurance Requirements: Sample Insurance Certificate attached. NOTE: C8: Dollar limits are subject to change based on the type of services provided.
- Page 21, V. Basis of Award, in the second sentence, REMOVE "up to the C9: maximum permitted under section 38.50 of the set aside code", as this bid is NOT a set-aside bid.

ADDITIONAL INFORMATION:

- Attached is a copy of the mandatory pre-bid sign in sheets. A1:
- Attached is a copy of the previous bid tabulation. A2:

All other specifications, terms & conditions remain the same.

MAILED BIDS:

If you have already submitted your printed bid, it will be retained in the City Clerk's Office until the Bid Opening time and date. If you wish to pick up your Bid that has already been submitted, you can do so by showing proper identification, in the Office of the City Clerk, 2600 Hollywood Blvd, Room 221, Hollywood, Florida 33020.

Please sign and return with your Bid.

COMPANY NAME: Superior Landscaping & Lawn Service, Inc.	_
BIDDER'S SIGNATURE	

Dated this 10th day of March, 2014

	ient#: 71430		SUPLA	1	ATE (MM/DD/YYYY)
ACORD CER	TIFICATE OF LI	ABILITY INSU	RANC	E	11/27/2013
THIS CERTIFICATE IS ISSUED AS A CERTIFICATE DOES NOT AFFIRMA BELOW. THIS CERTIFICATE OF INS REPRESENTATIVE OR PRODUCER	A MATTER OF INFORMATION O ATIVELY OR NEGATIVELY AMEN SURANCE DOES NOT CONSTIT R, AND THE CERTIFICATE HOLD	NLY AND CONFERS NO RIO ND, EXTEND OR ALTER TH UTE A CONTRACT BETWEN DER.	GHTS UPON E COVERAGI EN THE ISSU	THE CERTIFICATE HOL E AFFORDED BY THE P ING INSURER(S), AUTH	IORIZED
REPRESENTATIVE OR PRODUCER IMPORTANT: If the certificate holds the terms and conditions of the pol -cértificate holder in lieu of such end	er is an ADDITIONAL INSURED, licy, certain policies may require	e an endorsement. A statem			er rights to the
PRODUCER Gulfshore Insurance - Naples 4100 Goodlette Road North Naples, FL 34103 -3303 239 261-3646 INSURED Superior Landscaping		PHONE (A/C, No, Ext): 239 435 E-MAIL ADDRESS: mkalicha	Iran@gulfsh	Aoreinsurance.com	239 213-2852 NAIC #
2200 NW 23rd Ave Miami, FL 33142		INSURER D : INSURER E : INSURER F :			
	CERTIFICATE NUMBER:		F	EVISION NUMBER:	
COVERAGES THIS IS TO CERTIFY THAT THE POLI INDICATED. NOTWITHSTANDING ANY CERTIFICATE MAY BE ISSUED OR M EXCLUSIONS AND CONDITIONS OF S	ICIES OF INSURANCE LISTED BEL (REQUIREMENT, TERM OR CONE	FFORDED BY THE POLICIES	DESCRIBED H	FREIN IS SUBJECT TO A	
	ADDLISUBR INSR WVD POLICY N	LIMBER (MM/DD/YYYY)	(MM/DD/YYYY)		Autorite
INSR TYPE OF INSURANCE	GL2090122	11/07/2013	12/01/2014		\$1,000,000
A GENERAL LIABILITY	GLZ030122			DAMAGE TO RENTED PREMISES (Ea occurrence)	\$300,000
X COMMERCIAL GENERAL LIABILITY				MED EXP (Any one person)	\$10,000
CLAIMS-MADE X OCCUR			-	PERSONAL & ADV INJURY	\$2,000,000
				GENERAL AGGREGATE	\$2,000,000
				PRODUCTS - COMP/OP AGG	\$2,000,000
GEN'L AGGREGATE LIMIT APPLIES PER:					\$
POLICY X PRO-			10/01/0014	COMBINED SINGLE LIMIT (Ea accident)	s1,000,000
A AUTOMOBILE LIABILITY	CA2090120	11/07/2013	12/01/2014	(Ea accident) BODILY INJURY (Per person)	\$
				- Last	\$
ALL OWNED SCHEDULED	0			BODILY INJURY (Per accident)	Later and the second se
AUTOS AUTOS	D			PROPERTY DAMAGE (Per accident)	\$
X HIRED AUTOS X AUTOS					\$
	0110000100	11/07/2013	12/01/2014	EACH OCCURRENCE	\$4,000,000
A X UMBRELLA LIAB X OCCUR	CU2090123	11/0/12010	TA:OT/=OT	AGGREGATE	\$4,000,000
EXCESS LIAB CLAIMS	-MADE				\$
DED X RETENTION \$0		10040	10/01/201/	X WC STATU- OTH- TOBY LIMITS ER	
A WORKERS COMPENSATION	WC2090344	12/01/2013	12/01/2014	E,L. EACH ACCIDENT	\$1,000,000
A AND EMPLOYERS' LIABILITY ANY PROPRIETOR/PARTNER/EXECUTIVE OFFICER/MEMBER EXCLUDED?				E.L. DISEASE - EA EMPLOYEE	
OFFICER/MEMBER EXCLUDED? (Mandatory In NH)				E.L. DISEASE - EA EMPLOYEE E.L. DISEASE - POLICY LIMIT	e1 000 000
If yes, describe under DESCRIPTION OF OPERATIONS below				E.L. DISEASE - POLICY LIMIT	\$1,000,000
DESCHIPTION OF OPENATION DESCHIPTION OF OPENATION DESCHIPTION					•
		ast Remarks Schedule, if more space	is required)	den en e	
DESCRIPTION OF OPERATIONS / LOCATIONS	i / VEHICLES (Attach ACORD 101, Addition	nai riemarka ochedule, il more space			
				1 1	
		CANCELLATION			
CERTIFICATE HOLDER	and the second				
"Sam		E THE EVOIDATIO	DATE IN	Described Policies be C Iereof, Notice Will Olicy Provisions.	ANCELLED BEFORE BE DELIVERED IN
					No. of Concession, Name of Con
		AUTHORIZED REPRES	SENTATIVE		
	8		A A .		

Jants A	Anen	-	
Seren y	7		

© 1988-2010 ACORD CORPORATION. All rights reserved.

.

	S Andrews	ve. Rm. A-100	OCAL BUSI , Ft. Lauderdale, 2013 THROUG	FL 33301-189	5 - 954-831-40	00
Business N	DBA: SUPERIC	R LANDSCAPING	& LAWN	Receipt Business Typ	#:324-10769 LAWN MAINTED De: (LAWN MAINT:	NANCE/LANDSCA ENANCE/LANDSC
Business Loca		23 AVE ADE COUNTY		Business Opene e/County/Cert/Re Exemption Coc	eg:	
Business Phone: 305-634-0717 Rooms Seats Employees Machines Profess 30						sionals
	[F	or Vending Business Or			1
	Number of Macl		Penalty	Vending Type Prior Years	Collection Cost	Total Paid
Tax Amount	Transfer Fee	NSF Fee	0.00	0.00	0.00	150.00
	ECEIPT MUS	T BE POSTED	CONSPICIOUS			
	S A TAX RECE	PT This tax is non-regul and zonin the busin business	s levied for the privile atory in nature. You g requirements. Thi ess is sold, busine location. This receip npliance with State of	ege of doing busine must meet all Cou s Business Tax Re ess name has cha t does not indicate	nty and/or Municip ceipt must be trar nged or you hav that the business i	County and is pality planning referred when re moved the
THIS BECOME	S A TAX RECE	PT This tax is non-regul and zonin the busin business	s levied for the privile atory in nature. You ig requirements. Thi ess is sold, busine location. This receip	ege of doing busine must meet all Cou s Business Tax Re ess name has cha t does not indicate	ss within Broward nty and/or Municip ceipt must be trar inged or you hav that the business i	County and is pality planning referred when re moved the
THIS BECOME	S A TAX RECE	PT This tax is non-regul and zonin the busin business	s levied for the privile atory in nature. You ig requirements. Thi ess is sold, busine location. This receip	ege of doing busine must meet all Cou s Business Tax Re ss name has cha t does not indicate or local laws and req Receipt	ss within Broward nty and/or Municip ceipt must be trar inged or you hav that the business i	County and is pality planning insferred when ie moved the is legal or that

September 13, 2012

BROWARD COUNTY TREE TRIMMER LICENSE

STANDARDS FOR MAINTAINING YOUR BROWARD COUNTY TREE TRIMMER LICENSE

- 1. The following shall be available for inspection at every work site where tree trimming is being carried out:
 - · A copy of the company's Broward County Tree Trimmer license
 - Proof of the company's current insurance coverage
 - At least one person should possess a current Tree Trimmer training card (Class B licenses only). Current training cards reflect that training was completed within • the past two (2) years.
 - Picture identification issued by a government entity or agency
- 2. At least one trained person must be available at every work site where tree trimming is being carried out.
- 3. The company's Tree Trimmer license number shall be prominently displayed on both sides of vehicles used in tree trimming.
- 4. Tree trimmer license number must appear in ads offering tree trimming and/or removal services. Advertisements include business cards, telephone directory advertisements, quotes for tree services, flyers and vehicles advertising tree services.
- 5. License holders shall ensure that all employees engaged in tree trimming are adequately trained regarding safety procedures in accordance with applicable federal and state law including the federal Occupational Saftey and Health Act of 1970 (OSHA).
- 6. Retraining is required before licenses can be renewed. Tree trimmer licenses are renewable every two years.
- 7. Each license holder shall notify the County, in writing, if there is a change in any of the standards required for licensure.



4:06 PM 11/20/13

Superior Landscaping & Lawn Service, Inc. Fixed Asset Listing November 20, 2013

Purchase Description

2006 Prentice Loader Terra Topper Fertilizer Unit 2006 Anderson Trailer Vin 8896 2007 Anderson Trailer Vin 7381 2006 Hooper Trailer 7x18'6 Ton Vin 0032 2007 Anderson 7 Ton Trailer Vin 6996 2007 Anderson Trailer Vin 0585 2007 Anderson trailer Vin 0584 8' x 16 Suncoast Enclosed Trailer Vin 3462 1991 Great Dane 48" Trailer 2009 Better Built Trailer 2005 Utility Flatbed 2005 Rori Trailer 1997 Chevy Tiltmaster 12' Pipe body Vin 0939 2000 Isuzu 14' Dump truck Vin 0886 2000 Ford Ranger Pickup Vin 9163 2004 Ford F750 Pickup - Grapple Vin 8748 2007 Ford F-150 Vin 4022 2007 Ford F-150 XL Vin 6525 2007 Ford F-150 XL Vin 6520 2007 Ford F-150 XL Vin 6524 2007 Ford F-150 XL Vin 6521 2007 Ford F-150 XL Vin 6526 2007 Ford F-150 XL Vin 6527 2007 Ford F-150 XL Vin 6534 2007 Ford F-150 XL Vin 6533 2007 Ford F-150 XL Vin 6530 2007 Ford F-150 XL Vin 6529 2007 Ford F-150 XL Vin 6523 2007 Ford F-150 XL Vin 6522 2007 Ford F-150 XL Vin 6532 2007 Ford F-150 XL Vin 6528 2006 Intl 4300 Bucket Truck Vin 5101 2006 Intl 4300 Bucket Truck Vin 5113 2007 Ford Cargo Van Vin 5739 2007 Ford Cargo Van Vin 5740 2007 Ford Cargo Van Vin 5741 2007 Ford Cargo Van Vin 5742 2005 Ford F-650 Vin 8134 2007 Ford 10' Flat Bed Vin 6043 2006 Isuzu MPR-HD Vin 4485 2006 Isuzu MPR-HD Vin 3886 2002 Ledwell/Freightliner Water Truck 2003 Ford F-650 Water Truck Body Vin 2568 2007 Isuzu NPR-HD Flatbed Vin 4860

Purchase Description

2001 Sterling at 9500 Vin 0686 2005 Ford F-6500 A/Water Tank Vin 2052 2005 Ford F-550 Crew Cab Vin 9326 2005 Ford F-550 Crew Cab Vin 3703 2007 GMC W4500 Crew Cab Vin 1277 2008 Nissan Sentra Vin 0185 2008 Nissan Sentra Vin 4722 2008 Nissan Sentra Vin 8460 2008 Nissan Sentra Vin 9026 2006 GMC W5500 Vin 3094 2007 Chevy CW5500 Vin 2709 2007 Isuzu NPR HD Vin 5969 2006 Isuzu NPRVin 3667 2007 Isuzu NPR Crew Cab 12' FB Vin 9770 2006 Ford 650 Reg Cab Vin 5191 2006 Ford F450 Flat Bed Vin 3409 2006 Ford 550 P-Rack Vin 1170 2006 Ford 450-P Rack Vin 3410 2005 Ford 550-Dump Bed Vin 7044 2005 Ford F-650 Water Truck 5666 2013 Toyota Corolla 3255 2013 Toyota Corolla 6192 2013 Volvo S60 7402 2006 Ford F-650 Water Truck 4104 2013 Ford F-150 Reg Cab 2006 Ford F-650 Water Truck 4121 2014 Volvo S60 T5 VIN YV1612FS5E2274019 Arrowboard Wanco SP 55-LSA Arrowboard Wanco SP 55-LSA Arrowboard Solar Powered 15 Light WT SP Large outline style Arrow Board w/basic LED Caterpillar D250E-11 2000 Caterpillar D250E-II Caterpillar 420E Backhoe Loader KAW Blower Tube Throttle KRB750BC KAW Blower Tube Throttle KRB750BC Shindaiwa SHEEB802RT Blower KAW Blower Tube Throttle KRB750B-A3 KAW Blower Tube Throttle KRB750B-A3

KAW Blower Tube Throttle KRB750B-A3 KAW Blower Tube Throttle KRB750B-A3 KAW Blower Tube Throttle KRB750B-A3 Shindaiwa SHEEB802RT Blower Echo QECPB770T 64cc Blower Echo QECPB770T 64cc Blower Echo QECPB770T 64cc Blower KAW Blower Tube Throttle KRB750B-A3 Shindaiwa SHEEB208RT Blower Shindaiwa SHEEB208RT Blower Echo QECPB770T 64cc Blower Echo 63CC Blower Echo 63CC Blower Echo 63CC Blower Echo 63CC Blower KAW Blower Tube Throttle KRB750B-A3 KAW Blower Tube Throttle KRB750B-A3 KAW Blower Tube Throttle KRB750B-A3 CAT Bulldozer D-8 Stihl Chain Saw STEMS-192T-16 Stihl Chain Saw STEMS-192T-16 Stihl Chain Saw STEMS-290-20 Stihl Chain Saw STEMS-192T-16 Stihl Chain Saw STEMS-192T-16 Stihl Chain Saw STEMS-192T-16 Stihl Chain Saw STEMS-391-25 Stihl Chain Saw STEMS-192T-16

Purchase Description

Stihl Chain Saw STEMS-192T-16 Stihl Chain Saw SSTEMS192T-16 Stihl 16" Chain Saw MS192TC-E-16 Stihl 16" Chain Saw MS192TC-E-16 Stihl 16" Chain Saw MS192TC-E-16 Stihl Chain Saw STEMS-192T-16 Stihl Chain Saw STEMS-192T-16 Stihl Chain Saw STEMS-192T-16 Stihl Chain Saw STEMS-192T-16 Stihl Chain Saw STEMS441-25 Stihl Chain Saw STEMS-192T-16 Stihl Chain Saw STEMS-192T-16 Hitachee Chipper 2007 Vermeer BC1500 Chipper 2007 Verneer BC1500 Chipper 2003 Vermeer BC1400 Chipper Sod Cutter Stihl STEFC-90 Edger Stihl STEFC-90 Edger Shindaiwa Edger SHELE254 Stihl STEFC-90 Edger 2009 KAW Edger KEL27B-A1 Stihl STEFC-90 Edger Shindaiwa Edger SHELE242 Stihl STEFC-90 Edger Stihl STEFC-90 Edger Shindaiwa Edger SHELE260 Stihl STEFC-90 Edger Stihl STEFC-90 Edger Yanmar Mini Excavator Model 35N-2 Yanmar Model VI0273 Mini Excavator Caterpillar 330 BL Excavator

Purchase Description

2000 PC400LC-6 Excavator UL Approved Gas 30-gal Generac SD130 Diesel Generator KAW Long Fix Hedge Clip KCL600A-A1 Iphone 5S Gray 32GB Iphone 5S Gold 32GB Lo Jack for Mini excavator Lo jack for Chipper# 3 in Ft. Myers Caterpillar D936F Wheel Loader 1995 Komatsu WA380 Loader 2008 Magnum Pro MLT3060 Light Tower John Deere 1600 Turbo 62" SCAG 27 HP KOL STC61V-27CV 62" SCAG 27 HP KOL STC61V-27CV 62" SCAG 27 HP KOL STC61V-27CV John Deere 1600 Turbo 62" SCAG 27 HP KOL STC61V-27CV 62" SCAG 27 HP KOL STC61V-27CV 60" Z Master G3 29HP KAW 36" KAW 17HP Hydro Walk Mower 60" Z Master G3 29HP KAW 60" Z Master G3 29HP KAW

KAW 60" Z Master G3 29HP KAW 60" Z Master G3 29HP KAW 60" Z Master G3 29HP Toro Z Master G3 29 HP 60' KAW 48" 17 HP Hydro Mower 60" Z Master G3 29HP KAW KAW 60" Z Master GS 29HP KAW 60" Z Master GS 29HP KAW 60" Z Master GS 29HP Snapper Ninja 21' Mower Snapper 21' Easy Speed KAW 6HP Mower Snapper Ninja 21' Mower 2004 Hydro Tek Pressure Washer w/ Trailer 2004 Hydro Tek Pressure Washer w/ Trailer Echo 26CC Power Pruner Echo PPT 265 Power Pruner 12' 8" Fully STEHT101 Extendible Pruner STEHT101 Extendible Pruner Honda Water Pump Model WH20X Honda Water Pump Model 3065HL Motorola CP-200-XLS Radio To record Doc fees for asset financing - GE Money 200-Gallon Sprayer W/ Accessories 2350 Gallon Tank ACE 2" Poly Bulkhead Fitting Hoshizaki Ice Machine w/Storage bin Large Outlet Style Arrowbaord Blade Grinder 1-1/2 HP Honda 4HP OHV Engine-Landscape dept KAW 61"Velocity 26HP L KAW 61"Velocity 26HP L 2350 Gal. Tank Ace 2" Poly Bulkhead fitting 61" Veloc 26HP KAWL 200-Gallon Sprayer W/ Accessories Trimmer 0580 Purchase of (12) KAW Edgers KEL27B-A1 Purchase of (8) KAW Hedgetrimmer KHS1100-B1 Purchase of (8) KAW Hedgetrimmer KHS1100-B1

Purchase Description

Purchase of (12) KAW Sold Shaft Trimmer KGT27B-A1 Purchase of (2) KAW Edger KEL27B-A1 2007 Caterpillar 268B Skid Steer 2007 New Holland L185 Skid Steer 2007 New Holland 185 Skid Steer 2007 New Holland L185 Skid Steer Herbicide Spray Computer Sprayer P 100G 5.5HP KAW Sprayer P 200Gal GNC Space Saver 5.5 1/2 x 300'P 20' Storage Container 2007 Vermeer RT200 Walk Behind Trencher Astec TR660 Echo Line Trimmer Stihl Hedge Trimmer STEHL-100 Stihl 28.8cc Trimmer Stihl 28.8cc Trimmer Shindaiwa SHET282 Trimmer Shindaiwa SHET282 Trimmer Stihl STEHS86T-40 Hedge Trimmer Echo Line Trimmer Shindaiwa SHET282 Trimmer Stihl Hedge Trimmer STEHL-100 Stihl Hedge Trimmer STEHL-100 Stihl Hedge Trimmer STEHL-100 Stihl 28.8cc Trimmer Stihl 28.8cc Trimmer Stihl Hedge Trimmer STEHL-100 Stihl Hedge Trimmer STEHL-100

4:06 PM 11/20/13

Superior Landscaping & Lawn Service, Inc. Fixed Asset Listing November 20, 2013

Purchase Description

Stihl Hedge Trimmer STEHL-100 2009 KAW Solid Shaft Trimmer KGT27B-A1 Stihl Hedge Trimmer STEHL-100 Stihl Hedge Trimmer STEHL-100 Stihl Hedge Trimmer STEHL-100 Stihl 28.8cc Trimmer Stihl 28.8cc Trimmer 2009 KAW 44" Hedge Trimmer KHS1100-B1 Echo Hedge Trimmer ECESHC265 Echo Hedge Trimmer ECESHC265 Stihl 28.8cc Trimmer 2009 KAW 44" Hedge Trimmer KHS1100-B1 Echo Hedge Trimmer ECESHC265 2009 KAW 44" Hedge Trimmer KHS1100-B1 2009 KAW 44" Hedge Trimmer KHS1100-B1 Stihl 28.8cc Trimmer 2009 KAW 44" Hedge Trimmer KHS1100-B1 Echo Hedge Trimmer ECESHC265 2009 KAW 44" Hedge Trimmer KHS1100-B1 Shindaiwa SHET282 Trimmer 2009 KAW Solid Shaft Trimmer KGT27B-A1 2009 KAW Solid Shaft Trimmer KGT27B-A1 Shindaiwa SHET282 Trimmer 2009 KAW 44" Hedge Trimmer KHS1100-B1 Echo Line Trimmer Echo Line Trimmer Shindaiwa SHET282 Trimmer Shindaiwa SHET282 Trimmer Shindaiwa SHET282 Trimmer 2009 KAW Edger KEL27B-A1 Echo Hedge trimmer Eceshc265 Echo Hedge trimmer Eceshc265 Stihl 28.8cc Trimmer Stihl 28.8cc Trimmer Shindaiwa SHET282 Trimmer Shindaiwa SHET282 Trimmer Echo Hedge trimmer Eceshc265 Echo Hedge trimmer Eceshc265 Echo Hedge trimmer Eceshc265

Purchase Description

Echo Hedge trimmer Eceshc265 Echo Hedge trimmer Eceshc265 Shindaiwa T270A Trimmer Shindaiwa T270A Trimmer Shindaiwa SHET282 Trimmer 2009 KAW Solid Shaft Trimmer KGT27B-A1 2009 KAW Solid Shaft Trimmer KGT27B-A1 Stihl Hedge Trimmer STEHL-100 2009 KAW Solid Shaft Trimmer KGT27B-A1 Shindaiwa HT 23140 Hedge Trimmer Stihl Hedge Trimmer STEHL-100 Stihl Hedge Trimmer STEHL-100 Shindaiwa SHET282 Trimmer Stihl Hedge Trimmer STEHL-100 Stihl Hedge Trimmer STEHL-100 Stihl Hedge Trimmer STEHL-100 Stihl Hedge Trimmer STEHL-100 Shindaiwa SHET282 Trimmer Stihl Hedge Trimmer STEHL-100 2009 KAW Solid Shaft Trimmer KGT27B-A1 Stihl 28.8cc Trimmer Shindaiwa STEHS45-24 Trimmer Shindaiwa SHET282 Trimmer Shindaiwa SHET282 Trimmer Shindaiwa SHET282 Trimmer Stihl Hedge Trimmer STEHL-100

Purchase Description

Shindaiwa SHET282 Trimmer Stihl Hedge Trimmer STEHL-100 Stihl Hedge Trimmer STEHL-100 Shindaiwa SHET282 Trimmer Stihl Hedge Trimmer STEHL-100 Stihl Hedge Trimmer STEHL-100 John Deere 6x4 Diesel Model# 419195 Gallon Elliptical Horizontal Tank 84x55x142



Bepartment of State

I certify the attached is a true and correct copy of the Articles of Incorporation of SUPERIOR LANDSCAPING & LAWN SERVICE INC., a Florida corporation, filed on May 18, 1998, as shown by the records of this office.

The document number of this corporation is P98000044604.



CR2EO22 (2-95)

Given under my hand and the Great Seal of the State of Florida at Tallahassee, the Capitol, this the Eighteenth day of May, 1998

Sendra B. Mortham)

Sandra B. Mortham Secretary of State

A 鱻 International Society of Arboriculture Jun 30, 2014 Expiration Date Fim Skiera, Executive Director Having successfully completed the requirements established by the Certification International Society of Arboricul the above named is hereby recognized as an ISA Certified Arborist. May 16, 2011 Certified Since woard of the Anternational Society of Arboriculture" Certified Arborist. Certificate Dumber FL-6310A foel Langaney International Society of Arboriculture Certification Board, Chair W Ŵ \$

The mission of the Florida Nursery, Growers & Landscape Association is to promote and protect the success and professionalism of our members.

SUPERIOR LANDSCAPING & LAWN SERVICE, INC.

is a member of the

Florida Nursery, Growers & Landscape Association

through June 30, 2014

Ben Bolusky, Executive Vice President



Member in good standing since 2011



1. 4. 1

in the second

STATE OF FLORIDA

DEPARTMENT OF BUSINESS AND PROFESSIONAL REGULATION



CONSTRUCTION INDUSTRY LICENSING BOARD 1940 NORTH MONROE STREET TALLAHASSEE FL 32399-0783 (850) 487-1395

LEVY, BERNARD A SUPERIOR LANDSCAPING & LAWN SERVICE INC 12041 NW 20 STREET PLANTATION FL 33323

Congratulations! With this license you become one of the nearly one million Floridians licensed by the Department of Business and Professional Regulation. Our professionals and businesses range from architects to yacht brokers, from boxers to barbeque restaurants, and they keep Florida's economy strong.

Every day we work to improve the way we do business in order to serve you better. For information about our services, please log onto www.myfloridalicense.com. There you can find more information about our divisions and the regulations that impact you, subscribe to department newsletters and learn more about the Department's initiatives.

Our mission at the Department is: License Efficiently, Regulate Fairly. We constantly strive to serve you better so that you can serve your customers. Thank you for doing business in Florida, and congratulations on your new license!



DETACH HERE

THIS DOCUMENT HAS A COLORED BACKGROUND • MICROPRINTING • LINEMARK [™] PATENTED PAPER	
AC# 6189369 STATE OF FLORIDA	
DEBARTMENT OF BUSINESS AND PROFESSIONAL REGULATION	
DEPARTMENT OF BUSINESS AND PROFESSIONAL REGULATION CONSTRUCTION INDUSTRY LICENSING BOARD SEQ# L12070600955	
DATE BATCH NUMBER LICENSE NBR	8
07/06/2012 128003291 CFC1425682	2
The PLUMBING CONTRACTOR Named below IS CERTIFIED Under the provisions of Chapter 489 FS. Expiration date: AUG 31, 2014	1
LEVY, BERNARD A SUPERIOR LANDSCAPING & LAWN SERVICE INC 12041 NW 20 STREET WI 22323	
PLANTATION FL 33323 RICK SCOTT GOVERNOR	,
DISPLAY AS REQUIRED BY LAW	,

Florida Department of Agriculture and Consumer Services Pesticide Certification Office Commercial Applicator License License # CM16883 MEIGGS, NESTOR ELOY 26945 SW 144TH CT NARANJA, FL 33032 Categories 21, 6, 5A August 22, 2012 · Issued: Expires: August 31, 2016 2 Licensee ADAM H. PUTNAM, COMMISSIONER ider the provi The above individual is licensed sions of Chupter 487, F.S. to purchase and apply restricted use .

יון איר איר איר אור איר איר איר אין איר אין איר	·	Nursery, Growers & Landscape Association confers on	Certificate No. H65 8923	Professional (FCHP)	Ben Bolusky, FNGIA CEO Merry Mott, FNGIA Certification Dir
a a da de antes de la companya de l La companya de la comp	TO A CONTRACT OF		aney	The Title of Certified Horticulture Professional (FCHP)	Halsey W. Beshears, FNGLA President Marce C. C. Harold Jenkins, FNGLA Certification Chair
A SA A SA A SA A SA A SA SA SA SA SA SA	ک چر ک بر اور کر اور اور اور اور اور اور اور اور اور او	The Florida	Joel Langan	FNGLA Ce	June 30, 2015 April 2012 Certified Since



Conducted at _P		Certificate of Qualification This certifies that	Joel Langaney	has attended and successfully completed the Florida DOT Approved Course Advanced Maintenance of Traffic	Conducted at Punta Gorda, FL on the19 day of Eebruary2013	10	
-----------------	--	---	---------------	--	---	----	--



Department of Environmental Protection

2600 Blair Stone Road, M.S. 3570 Tallahassee, Florida 32399-2400



Congratulations on successfully completing the Florida Green Industries Best Management Practices Training Program. We greatly appreciate your participation in and successful completion of this course. We hope that it has helped you to better understand Florida's nonpoint source pollution problems and the importance of proper design, construction, irrigation, fertilization, pest control, and maintenance of lawns and landscapes, in order to assure ininimal adverse environmental effects while achieving customer expectations.

Attached you will find your numbered certificate and wallet card. If there are any errors in the certificate or card, or if we can be of further assistance, please contact the GI-BMP Office of the Florida-Friendly LandscapingTM Program at (352) 273-4517 or email gi.bmp@ifas.ufl.edu.

Joel Langaney 3621 Country Club Blvd Cape Coral, FL 33904 State of Florida DEPARTMENT OF ENVIRONMENTAL PROTECTION

Joel Langaney

GV14332-1

-GV14332 Trainee ID #

Cautificate # Traince ID # GREEN INDUSTRIES BEST MANAGEMENT PRACTICES TRAINING PROGRAM





Florida Department of Transportation

RICK SCOTT GOVERNOR 605 Suwannee Street Tallahassee, FL 32399-0450 June 19, 2013 ANANTH PRASAD, P.E. SECRETARY

SUPERIOR LANDSCAPING & LAWN SERVICE, INC. 2200 NW 23 AVE MIAMI FL 33142

RE: CERTIFICATE OF QUALIFICATION

Dear Sir/Madam:

The Department of Transportation has qualified your company for the type of work indicated below. Unless your company is notified otherwise, this Certificate of Qualification will expire 6/30/2014. However, the new application is due 4/30/2014.

In accordance with S.337.14 (1) F.S. your next application <u>must be</u> filed within (4) months of the ending date of the applicant's audited annual financial statements and, if applicable, the audited interim financial statements. Section 337.14 (4) F.S. provides that your certificate will be valid for 18 months after your financial statement date. This gives a two month period to allow you to bid on jobs as we process your new application for qualification. To remain qualified with the Department, a new application must be submitted subsequent to any significant change in the financial position or the structure of your firm as described in Section 14-22.005(3), Florida Administrative Code.

Your company's maximum capacity rating has been established based on X Audited ______ Reviewed financial statements. To access it, please log into the Contractor Prequalification Application System via the following link: https://www3.dot.state.fl.us/ContractorPreQualification/

Once logged in, select "View" for the most recently approved application, and then click the "Manage" and "Application Summary" tabs.

FDOT APPROVED WORK CLASSES: DEBRIS REMOVAL (EMERGENCY), GRASSING, SEEDING AND SODDING, LANDSCAPING

FDOT APPROVED SPECIALITY CLASSES OF WORK: IRRIGATION, TREE TRIMMING.

You may apply, in writing, for a Revised Certificate of Qualification at any time prior to the expiration date of this certificate according to Section 14-22.0041(3), Florida Administrative Code. Please be advised if certification in additional classes of work is desired, documentation is needed to show that your company has done such work with your own forces and equipment or that experience was gained with another contractor and that you have the necessary equipment for each additional class of work requested.

Sincerely,

Quante Moore

Juanita Moore, Manager Contracts Administration Office

JM:cj

www.dot.state.fl.us



. This is	to certify that
Has satisfact	S ACOSTA torily completed the NCE OF TRAFFIC EVEL TRAINING COUR
Provider: 001 Date Completed: 5/13/2010	Moltilh

.

÷

۰.

 $d \in \{1, \dots\}$

Statement of Work Experience

Since 1982, the founder of Superior Landscaping & Lawn Service, Inc has been creating landscaping solutions for clients throughout the state of Florida. Through years of experience, Superior Landscaping has been meeting the needs of clients by providing the highest quality of services in the industry. We strive to accomplish this by being accessible, dependable and displaying personal pride in all that we do. Superior operates from a facilities centrally located, fully equipped and with a qualified workforce of uniformed employees ready to provide Top-Notch service. Superior provides complete landscape service from Design, installation, maintenance, irrigation, tree trimming, fertilizing, lighting and growing facility. Being able to provide all these services, we are capable to perform all types of projects from Commercial projects to Industrial Parks, Community Development and Government projects.

Superior's philosophy is to establish a long-term partnership with our customers and continuously provide services that ensure innovation and quality.